‘ 2
i# 5

@ - B AE GRS e

(1)- B3 A0 L1 F4p =15 50 himi > 45 )it

E

(2)- BH R Al m & p 108 b ped > LG A i

(3)— B4 RE Ll /| PEP 9575 6o i dt > AL 5 A ik












% A AR
T

b g R 3L Mg 0 6000 = o 7= 110
g AL ET] L E AT 56002 € 0 5 904

4EFE Bk - BRT R = IR F
(600045000)+ (110490) = -+ =&

J

14



Pk %

48 96 B + 48 0%

/7~ N\
N
N
|_|
o0
o
N
.—.

/7~ N\
O
|_|
O
N




7 BkXa==96= FE a4 . 8x30 =144
CHPH T AR CTT 21T 8 )=




3. 0] B
PP [P ) 2= H2BE 41

WARERE - AR = P R

(1204120)+(2. 443. 6)=




R GE N SR



| A ga o i
EFRT2 00 A A E
TIA4RIE 0 A AREES D R 9

900-720=180



e e b k2 o



RO 7 4 400 =

400+5=80 -F 32— % &5 a4 3
120+8=90 T =2- & 45 a

30 = & //w\lgoz} </ A

(80+90)x10=1700



;};5?}%,_ HZOO’\ SO /J\ f”ﬁé}-}b-‘i
S L ﬁg‘”ﬁ—‘i ‘HA 1R F)
PR b R S g B S A L g
—-47}5_@?

FEHETS A @ Ffo=pF[F
200+(3.944. 1 ) =’




